

ORDER FORM FOR:

Yonkers Public School District ACCOUNTS PAYABLE YONKERS, NY 10701-7044 **ACCOUNT NUMBER: 349021**

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SALES REP INFORMATION:

Becky Coldwell & Wendy Skoczen becky.coldwell@mheducation.com (607) 972-3777

Section Summary		Product Subtotal
Number Worlds	Walling Co.	\$1,887.03
Student Workbook Bundles		\$3,690.00
	PRODUCT TOTAL*	\$5,577.03
	ESTIMATED S&H**	\$278.85
	ESTIMATED TAX**	\$0.00
	GRAND TOTAL*	\$5,855.88

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Ship to Yonkers Middle High School, 150 ROCKLAND AVENUE YONKERS, NY 10705

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

WSKOC-12112023094647-001

ACCOUNT #: 349021

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Line Subtotal	
Number Worlds				The later and the later	
NUMBER WORLDS TEACHER EDITION LEVEL F	978-1-26-493031-9	1 1	\$307.41		\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL G	978-1-26-493099-9	1.	\$307.41		\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL H	978-1-26-493345-7	1	\$307.41		\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL I	978-1-26-493476-8	1	\$307.41		\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL J	978-1-26-493986-2	1	\$307.41		\$307.41
NUMBER WORLDS LEVELS A-J MANIPULATIVE KIT	978-1-26-531427-9	1	\$349.98		\$349.98

Number Worlds Subtotal:

\$1,887.03

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023094647-001

ACCOUNT #: 349021

PAGE #:



Product Description	ISBN	Qty	Unit Price	Line Subtotal
Student Workbook Bundles			E-8/1	Application of the state of the
NUMBER WORLDS LEVEL F WORKBOOK PACKAGE 25 PACK	978-1-26-652649-7	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL G WORKBOOK PACKAGE 25 PACK	978-1-26-652676-3	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL H WORKBOOK PACKAGE 25 PACK	978-1-26-648422-3	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL I WORKBOOK PACKAGE 25 PACK	978-1-26-652927-6	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL J WORKBOOK PACKAGE 25 PACK	978-1-26-653027-2	3	\$246.00	\$738.00

Student Workbook Bundles Subtotal:

\$3,690.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE: 04/09/2024

QUOTE NUMBER:

WSKOC-12112023094647-001

ACCOUNT #: 349021

PAGE #:



ORDER FORM FOR:

Yonkers Public School District
ACCOUNTS PAYABLE
YONKERS, NY 10701-7044
ACCOUNT NUMBER: 349021

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

PRODUCT TOTAL*	\$5,577.03
ESTIMATED SHIPPING & HANDLING**	\$278.85
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$5,855.88

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

Comments:				
	0.0			

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscription.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mheducation.com (or www.mheducation.com).

School Purchase Order Number:		
Name of School Official (Please Print)	Signature of School Office	ial

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023094647-001

ACCOUNT #: 349021

PAGE #:

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



ORDER FORM FOR:

Yonkers Public School District ACCOUNTS PAYABLE YONKERS, NY 10701-7044 ACCOUNT NUMBER: 349021

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SALES REP INFORMATION:

Becky Coldwell & Wendy Skoczen becky.coldwell@mheducation.com (607) 972-3777

Section S	ummary	Product Subtotal
Number Worlds		\$2,809.26
Student Workbook Bundles		\$3,837.60
	PRODUCT TOTAL*	\$6,646.86
	ESTIMATED S&H**	\$332.34
	ESTIMATED TAX**	\$0.00
	GRAND TOTAL*	\$6,979.20

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments

Ship to: Thomas Cornell Academy, 15 Saint Marys St Yonkers, NY 10701

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023092359-001

ACCOUNT #: 349021

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Line Subtotal
Number Worlds		886		and the state of t
NUMBER WORLDS TEACHER EDITION LEVEL A	978-1-26-491731-0	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL B	978-1-26-491824-9	. 1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL C	978-1-26-492049-5	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL D	978-1-26-492886-6	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL E	978-1-26-492967-2	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL F	978-1-26-493031-9	1 -	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL G	978-1-26-493099-9	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL H	978-1-26-493345-7	1	\$307.41	\$307.41
NUMBER WORLDS LEVELS A-J MANIPULATIVE KIT	978-1-26-531427-9	1	\$349.98	\$349.98

Number Worlds Subtotal:

\$2,809.26

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023092359-001

ACCOUNT #: 349021

PAGE #:



Product Description	ISBN	Qty	Unit Price	Line Subtotal	
Student Workbook Bundles		Handy T	7.71.19	AND PARTIES.	
NUMBER WORLDS LEVEL C STUDENT WORKBOOK 5 PACK	978-1-26-644793-8	3	\$49.20	ENGINEER DESCRIPTION	\$147.60
NUMBER WORLDS LEVEL D WORKBOOK PACKAGE 25 PACK	978-1-26-652412-7	3	\$246.00		\$738.00
NUMBER WORLDS LEVEL E WORKBOOK PACKAGE 25 PACK	978-1-26-652532-2	3	\$246.00		\$738.00
NUMBER WORLDS LEVEL F WORKBOOK PACKAGE 25 PACK	978-1-26-652649-7	3	\$246.00	CHILDRED TO VALUE OF THE SHIP AND A PARTY OF THE SHIP	\$738.00
NUMBER WORLDS LEVEL G WORKBOOK PACKAGE 25 PACK	978-1-26-652676-3	3	\$246.00		\$738.00
NUMBER WORLDS LEVEL H WORKBOOK PACKAGE 25 PACK	978-1-26-648422-3	3	\$246.00		\$738.00

Student Workbook Bundles Subtotal:

\$3,837.60

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER

WSKOC-12112023092359-001

ACCOUNT #: 349021

PAGE #



ORDER FORM FOR:

Yonkers Public School District ACCOUNTS PAYABLE YONKERS, NY 10701-7044 ACCOUNT NUMBER: 349021

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

PRODUCT TOTAL*	\$6,646.86
ESTIMATED SHIPPING & HANDLING**	\$332.34
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$6,979.20

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

Comments:	

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscription.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or <a href="https://www.mheducat

Name of School Official (Please Print)	Signature of School Official
School Purchase Order Number:	

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023092359-001

ACCOUNT #: 349021

PAGE #:

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



ORDER FORM FOR:

Yonkers Public School District
ACCOUNTS PAYABLE
YONKERS, NY 10701-7044
ACCOUNT NUMBER: 349021

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SALES REP INFORMATION:

Becky Coldwell & Wendy Skoczen becky.coldwell@mheducation.com (607) 972-3777

S	ection Summary	Product Subtotal
Number Worlds		\$3,424.08
Student Workbook Bundles		\$5,313.60
	PRODUCT TOTAL*	\$8,737.68
	ESTIMATED S&H**	\$436.88
	ESTIMATED TAX**	\$0.00
	GRAND TOTAL*	\$9,174.56

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:

Ship to: Martin Luther King Jr. Academy, 135 LOCUST HILL AVE YONKERS, NY 10701-2995

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023085026-001

ACCOUNT #: 349021

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Line Subtotal
Number Worlds	WHEE - 1 - 1500 W.L.	110		
NUMBER WORLDS TEACHER EDITION LEVEL A	978-1-26-491731-0	1 1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL B	978-1-26-491824-9	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL C	978-1-26-492049-5	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL D	978-1-26-492886-6	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL E	978-1-26-492967-2	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL F	978-1-26-493031-9	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL G	978-1-26-493099-9	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL H	978-1-26-493345-7	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL I	978-1-26-493476-8	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL J	978-1-26-493986-2	1	\$307.41	\$307.41
NUMBER WORLDS LEVELS A-J MANIPULATIVE KIT	978-1-26-531427-9	1	\$349.98	\$349.98

Number Worlds Subtotal:

\$3,424.08

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023085026-001

ACCOUNT #: 349021

PAGE #:



Product Description	ISBN	Qty	Unit Price	Line Subtotal
Student Workbook Bundles				
NUMBER WORLDS LEVEL C STUDENT WORKBOOK 5 PACK	978-1-26-644793-8	3	\$49.20	\$147.60
NUMBER WORLDS LEVEL D WORKBOOK PACKAGE 25 PACK	978-1-26-652412-7	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL E WORKBOOK PACKAGE 25 PACK	978-1-26-652532-2	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL F WORKBOOK PACKAGE 25 PACK	978-1-26-652649-7	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL G WORKBOOK PACKAGE 25 PACK	978-1-26-652676-3	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL H WORKBOOK PACKAGE 25 PACK	978-1-26-648422-3	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL I WORKBOOK PACKAGE 25 PACK	978-1-26-652927-6	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL J WORKBOOK PACKAGE 25 PACK	978-1-26-653027-2	3	\$246.00	\$738.00

Student Workbook Bundles Subtotal:

\$5,313.60

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023085026-001

ACCOUNT #: 349021

PAGE #:

,



ORDER FORM FOR:

Yonkers Public School District
ACCOUNTS PAYABLE
YONKERS, NY 10701-7044
ACCOUNT NUMBER: 349021

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

PRODUCT TOTAL*	\$8,737.68
ESTIMATED SHIPPING & HANDLING**	\$436.88
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$9,174.56

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

Comments:		

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscription Renewal Term to Subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mheducation.com (or www.mheducation.com).

School Purchase Order Number:	
Name of School Official (Please Print)	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023085026-001

ACCOUNT #: 349021

PAGE #:

Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



ORDER FORM FOR:

Yonkers Public School District ACCOUNTS PAYABLE YONKERS, NY 10701-7044 ACCOUNT NUMBER: 349021

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

SALES REP INFORMATION:

Becky Coldwell & Wendy Skoczen becky.coldwell@mheducation.com (607) 972-3777

Section Sun	mary	Product Subtotal
Number Worlds		\$3,424.08
Student Workbook Bundles		\$5,313.60
	PRODUCT TOTAL*	\$8,737.68
	ESTIMATED S&H**	\$436.88
	ESTIMATED TAX**	\$0.00
	GRAND TOTAL*	\$9,174.56

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments

Ship to: School 16, 759 NO BROADWAY YONKERS, NY 10701

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023084607-001

ACCOUNT #: 349021

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Line Subtotal
Number Worlds				
NUMBER WORLDS TEACHER EDITION LEVEL A	978-1-26-491731-0	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL B	978-1-26-491824-9	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL C	978-1-26-492049-5	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL D	978-1-26-492886-6	1 1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL E	978-1-26-492967-2	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL F	978-1-26-493031-9	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL G	978-1-26-493099-9	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL H	978-1-26-493345-7	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL I	978-1-26-493476-8	1	\$307.41	\$307.41
NUMBER WORLDS TEACHER EDITION LEVEL J	978-1-26-493986-2	1	\$307.41	\$307.41
NUMBER WORLDS LEVELS A-J MANIPULATIVE KIT	978-1-26-531427-9	1	\$349.98	\$349.98

Number Worlds Subtotal:

\$3,424.08

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023084607-001

ACCOUNT #: 349021

PAGE #:



Product Description	ISBN	Qty	Unit Price	Line Subtotal
Student Workbook Bundles				Wild Company Company
NUMBER WORLDS LEVEL C STUDENT WORKBOOK 5 PACK	978-1-26-644793-8	3	\$49.20	\$147.60
NUMBER WORLDS LEVEL D WORKBOOK PACKAGE 25 PACK	978-1-26-652412-7	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL E WORKBOOK PACKAGE 25 PACK	978-1-26-652532-2	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL F WORKBOOK PACKAGE 25 PACK	978-1-26-652649-7	3.	\$246.00	\$738.00
NUMBER WORLDS LEVEL G WORKBOOK PACKAGE 25 PACK	978-1-26-652676-3	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL H WORKBOOK PACKAGE 25 PACK	978-1-26-648422-3	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL I WORKBOOK PACKAGE 25 PACK	978-1-26-652927-6	3	\$246.00	\$738.00
NUMBER WORLDS LEVEL J WORKBOOK PACKAGE 25 PACK	978-1-26-653027-2	3	\$246.00	\$738.00

Student Workbook Bundles Subtotal:

\$5,313.60

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023084607-001

ACCOUNT #: 349021

PAGE #:



ORDER FORM FOR:

Yonkers Public School District
ACCOUNTS PAYABLE
YONKERS, NY 10701-7044
ACCOUNT NUMBER: 349021

CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

PRODUCT TOTAL*	\$8,737.68
ESTIMATED SHIPPING & HANDLING**	\$436.88
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$9,174.56

SUBSCRIPTION/DIGITAL CONTACT:

Michael McDonald mmcdonald@yonkerspublicschools.org 646-509-6764 999 435 5200

Comments:			

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mheducation.com) (or <a href="http

School Purchase Order Number:		
Name of School Official (Ple	ease Print)	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

12/11/2023

ACCOUNT NAME: Yonkers Public School District

EXPIRATION DATE:

04/09/2024

QUOTE NUMBER:

WSKOC-12112023084607-001

ACCOUNT #: 349021

PAGE #:

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.